PSI3213: Desempenho no Teste 4

29 semestre de 2017

Todas as turmas (207 alunos)

Média = 4,8 Desvio padrao = 2,8

Distribuicdo de notas
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Turma 1 (36 alunos)

Média = 4,39 Desvio padrao = 2,61
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Turma 2 (63 alunos)

Média = 4,95 Desvio padrao = 2,87

Distribuicdo de notas

15- :
|
" |
e |
5 10- I
©
(0] |
o
o |
Q |
€ 5-
Neo I
= |
|
|
0- ]
0 1 2 3 4 5 6 7 8 9
Nota
Porcentagem de acertos
60 -
g 40 -
(7))
S
@
(&S]
< 20- I
O -
i T2 T3 T Ts

Teste

10



Turma 3 (60 alunos)

Média = 4,47 Desvio padrao = 2,72

Distribuicdo de notas
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Média = 5,33

Turma 4 (48 alunos)

Desvio padrao = 2,93

Distribuicdo de notas
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